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88-151 dwihnzna aygn iyeniyogeazel`yd lk lr zeprl yioel`yd ly ipyd 
va qteha zeaeyzd z` aezki
i lr zx
bend 10 × 10 l
ebn dvixhn `id A .1

Ai,j = 3i − 2j + sin(ij) , i, j = 1, 2, . . . , 10 ,? miiaeig md B ly miaikxdn dnk .B = A2 -ei
i lr x1, x2, . . . , x1000 mixtqnd z` mixviin , Matlab -a ,m` .2
x0 = 0.77 , xn+1 = 4xn(1 − xn) , n = 0, 1, 2, . . .? 0.67-n mile
b md x1, x2, . . . , x1000 mixtqndn dnkoia) mii`xw` mixtqn ly 500×500 l
eba dvixhn zeidl A z` migwel Matlab -a m` .3mekqd oiae A ly miaikxd ly miqepiqd ly mekqd oia qgid z` `vn ,(libxk ,1-l 0.( ∑

i,j sin Ai,j/
∑

i,j Ai,j xnelk) A ly miaikxd ly.sum(sum(A)) aezkl xyt` A dvixhn ly miaikxd lk ly mekq zeyrl i
k :fnxdxevdn yi mixtqn dnk .4
1 + n + p

3 + m + p? p = 1, 2, 3, 4, 5, 6, 7 ,m = 1, 2, 3, 4, 5, 6 ,n = 1, 2, 3, 4, 5 xy`kdivwpetl yi menipin ze
ewp dnk .5
1 + 1

2
x sin 4x + 2x

2 + cos2 x(.sxbd z` xviil Matlab -a e` Maple -a xfrd) ? −5 ≤ x ≤ 5 rhwa
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